
Тнеме № 4 Thyroid disease. TEST № 1  
1. Hypothyroidism is more common for: 
a) male 
b) women 
c) children 
d) any people 

 
2. In primary hypothyroidism the TSH will be: 
a) increased 
b) decreased 
c) does not change 
 
3. The average replacement dose of levothyroxine sodium for patients with 
hypothyroidism is: 
a) 1.0 - 1.2 μg / kg / day 
b) 1.6 - 1.8 μg / kg / day 
a) 2.0 - 2.2 μg / kg / day 
 

4. In the appointment of replacement therapy in women is not recommended: 
a) pregnant for at least 1 year 
b) to breastfeed 
c) there are no restrictions 
  
5. The main reason for hyperthyroiditis in young adults: 
a) excessive intake of iodine in the body 
b) Graves disease 
c) thyroid cancer 
 
6. In primary thyrotoxicosis TSH will be: 
a) reduced 

b) increased 
c) has not changed 
 
7. The main method of diagnosis of Graves' disease is: 
a) determination of TSH and free T4+TSHr-Ab 
b) thyroid biopsy 
c) thyroid scintigraphy 
 
8. Indications for surgical treatment of diffuse toxic goiter: 
a) all patients with Graves disease 
b) the ineffectiveness of prolonged conservative treatment 
c) the development of side effects with conservative treatment 

9. The major complications of antithyroid therapy is: 
a) agranulocytosis 
b) cutaneous manifestations 
c) thyroid cancer 
 
10. Diagnostic criteria for subacute thyroididtis: 
a) pain in the thyroid gland 
b) a significant increase in ESR 
c) sub–febrile  fever 


